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Maximum Marks: 70

Note. 
(i)  All questions are compulsory. 



(ii) Programming Language: C+ +
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Ques 1.

(a)What is the difference between Actual Parameter and Formal Parameter? Give example in C++ to illustrate         

     both type of parameters.
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(b) Name the header files to execute the following underline function in a program:

1
void main( )

{

 clrscr();

 char headline[50] = " Sensex ends week on a high ";

 float points = 19870.42;

 char week[50] ;

 strcpy (week, ( strstr(headline, "week") ) );

 delay(1000);

 week[0] = toupper (week[0]);

 cout << week << setw(10) << setprecision (3) <<points;

 getch();

}

(c) Rewrite the following program after removing the syntactical error(s), if any. Underline each correction:   2


# include <iostream.h>

# include <conio.h>

# define pi = 3.1415

# define square(x) = x*x

const float r  1.2;

void Main ()

{ clrscr();

 float *Area;

 float *R;

 float area = pi * square (r);

 cout << endl << " area " << area;

 Area = &area;

 *Area *= area;

 cout << endl << " area " << area;

 R = &r;

 *R *= r;

 cout << endl << " r " << r;

 getch();}

(d) Find the output of the following program:







# include <iostream.h>

# include <conio.h>

struct triangle

 {

  float angle;

  float base;

  float height;

 };

void display (triangle question)

 {  cout << endl << " Base   : " << question.base;

    cout << endl << " Height : " << question.height;

    cout << endl << " Angle  : " << question.angle;

 }

triangle difference (triangle one, triangle &two)

 {

  triangle three;

  if (one.base < two.base )

    {

       two.height = 100;

       three = two;

    }

  else

    {

       two.angle = 22;

       three = one;

    }

 return three;

 }

void main ()

{

  clrscr();

  triangle building = {20,10,30}, flagstaff, differ;

  flagstaff = building;

  flagstaff.height =+5;

  flagstaff.base +=45;

  display (building);

  differ = difference (building, flagstaff);

  display (differ);

  display (flagstaff);

  getch();

}

(e) Find the output of the following program:
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                        #include<iostream.h>



#include<ctrype.h>



void Secret(char Msg[], int N);

void main( )

{char SMS[]=”rEPorTmE”;

Secret(SMS,2);

cout<<SMS<<endl;}                              
void Secret(char Msg[ ], int N)

{

for(int C=0;Msg[C]!=’\0’;C++)

if(C%2 = = 0)

Msg[C]=Msg[C]+N;

else if(isupper(Msg[C]))


Msg[C]=tolower(Msg[C]) ;

Else


Msg[C]=Msg[C]-N;


}   
(f) Study the following program and select the possible output from it with reason:
2

#include<iostream.h>

#include<stdlib.h>

const int MAX=3;

void main()

{

randomize( );

int Number;

Number=50+random(random(MAX);

for(int P=Number;P>=50;P- -)

cout<<P<<”#”;

cout<<endl;

}                                                                                                                                                                                                                                                                                                                                                                                               
(i) 53#52#51#50#




ii) 50#51#52#

(iii) 50#51#





iv) 51#50#

Ques.2

(a) What do you understand by Data Encapsulation and Data Hiding? Also, give a suitable C++ code to 
      illustrate both.
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(b) Answer the questions (i) and (ii) after going through the following program: 
2

class Match

{

int Time;

public:

Match()

//Function 1

{

Time=0;

cout<<"Match commences"<<end1;
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}

void Details() //Function 2

{

cout<<"Inter Section Basketball Match"<<end1;

}

Match(int Duration) //Function 3

{

Time=Duration;

cout<<"Another Match begins now"<<end1;

}

Match(Match &M) //Function 4

{

Time=M.Duration;

cout<<"Like Previous Match "<<end1;

}

};

i) Which category of constructor - Function 4 belongs to and what is the purpose of using it?

ii) Write statements that would call the member Functions 1 and 3

(c) Define a class BALANCED_MEAL in C++ with following description:

 4

Private Members:

· Access number Integer

· Name of Food String of 25 characters

· Calories Integer

· Food type String

· Cost Float

· AssignAccess( ) Generates random numbers between 0 to 99 and return it.

Public Members

· A function INTAKE( ) to allow the user to enter the values of Name of Food,

· Calories, Food type cost and call function AssignAccess() to assign Access number.

· A function OUTPUT( ) to allow user to view the content of all the data members, if the Food type is fruit.

(d) Consider the following declarations and answer the questions given below:

4
class Mydata

{
 protected:

int data;

public:

void Get_mydata(int);

void Manip_mydata(int);

void Show_mydata(int);

Mydata( );

~Mydata( ); };

class Personal_data

{

protected:

int data1;

public:

void Get_personaldata(int);

void Show_personaldata(int);

Personal_data( );

~ Personal_data ( ); };

class Person: public Mydata, Personal_data

{

public:

void Show_person(void);

person( );

~person( );
 };

i) How many bytes will be required by an object belonging to class Person?

ii) Which type of inheritance is depicted in the above example?

iii) List the data members that can be accessed by the member function Show_person( )

iv) What is the order of constructor execution at the time of creating an object of class Person?
Ques 3.
(a) Write a function in C++, which accepts an integer array and its size as arguments and exchanges the values of the first half side with the second half side elements of the array.
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Example: if an array of eight elements initially contains the elements as

2,4,1,6,7,9,23,10

Then the function should rearrange the array as

7,9,23,10,2,4,1,6
(b) An array Arr[35] [15] is stored in the memory along the row with each element occupying 4 bytes. Find out the address of the location Arr[20] [5], if the location Arr[2] [2] is stored at the address 3000. 

3
(c) Write a function in C++ to Delete an element from a dynamically allocated Queue where each node contains a real number as data. 
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Assume the following definition of MYNODE for the same.

struct MYNODE

{

float NUM;

MYNODE = *Link;

} ;

(d) Write a function in C++, which accepts a 2D array of integers and its size as argument and displays the elements row and the elements of middle column. 
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[Assuming the 2D array to be a square matric with odd dimensions,  i.e. ,  3x3,5x5 etc.]

Example: if the two dimensional array contains
	20
	40
	10

	40
	50
	30

	60
	30
	20


Then the output should appear as :

Middle Row: 40 50 30

Middle Column: 40 50 30

 (e)Evaluate the following postfix notation of expression (Show status of Stack after execution of each 
    operation) :
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5,20,15, -, * ,25,2, *, +

Ques. 4
(a) Observe the program segment given below carefully and fill the blanks marked as Statement 1 and Statement 2 using seekg() and tellg() functions for performing the required task. 



1

#include <fstream.h>

class Employee

No. Questions Marks

{

int Eno;char Ename[20];

public:

//Function to count the total number of records

int Countrec();

};

int Item::Countrec()

{

fstream File;

File.open("EMP.DAT",ios::binary|ios::in);

______________________ //Statement 1
- To take the file pointer to

the end of file.

int Bytes =

______________________ //Statement 2
- To return total number of bytes from the beginning of file to the file pointer.

int Count = Bytes / sizeof(Item);

File.close();

return Count;

}

(b) Write a function in C++ to count the number of alphabets present in a text file  "NOTES.TXT". 
2

(c) Write a function in C++ to add new objects at the bottom of a binary file "STUDENT.DAT", assuming the  

      binary file is containing the objects of the following class.  





3

class STUD

{

int Rno;

char Name[20];

public:

void Enter(){cin>>Rno;gets(Name);}

void Display(){cout<<Rno<<Name<<endl;}

};

Ques.5

(a) What do you understand by Primary Key & Candidate Keys? 2

(b) Consider the following tables GAMES and PLAYER and answer (b) and (c) parts of this question:

Table: GAMES

	GCode
	GameName
	Type
	Number
	PrizeMoney
	ScheduleDate

	101
	Carom Board
	Indoor
	2
	5000
	23-Jan-2004

	102
	Badminton
	Outdoor
	2
	12000
	12-Dec-2003

	103
	Table Tennis
	Indoor
	4
	8000
	14-Feb-2004

	105
	Chess
	Indoor
	2
	9000
	01-Jan-2004

	108
	Lawn Tennis
	Outdoor
	4
	25000
	19-Mar-2004


Table: PLAYER

	PCode
	Name
	Gcode

	1
	Nabi Ahmad
	101

	2
	Ravi Sahai
	108

	3
	Jatin
	101

	4
	Nazneen
	103


(b) Write SQL commands for the flowing statements: 


4

(i) To display the name of all GAMES with their GCodes

(ii) To display details of those GAMES which are having PrizeMoney more than 7000.

(iii) To display the content of the GAMES table in ascending order of Schedule Date.

(iv) To display sum of PrizeMoney for each Type of GAMES

(c) Give the output of the following SQL queries: 



2

(i) SELECT COUNT(DISTINCT Number) FROM GAMES;

(ii) SELECT MAX(ScheduleDate),MIN(ScheduleDate) FROM GAMES;

(iii) SELECT Name, GameName FROM GAMES G, PLAYER P

WHERE G.Gcode=P.Gcode AND G.PrizeMoney>10000;

(iv) SELECT DISTINCT Gcode FROM PLAYER;

Ques 6.

(a) State and algebraically verify Absorption Laws. 
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(b) Write the equivalent Boolean Expression for the following Logic Circuit 


2

(c) Write the SOP form of a Boolean function G, which is represented in a truth table as follows: 
 1

	P
	Q
	R
	G

	0
	0
	0
	0

	0
	0
	1
	0

	0
	1
	0
	1

	0
	1
	1
	0

	1
	0
	0
	1

	1
	0
	1
	0

	1
	1
	0
	1

	1
	1
	1
	1


(d) Reduce the following Boolean Expression using K-Map: 



3

F(U,V,W,Z)= π(0,1,2,4,5,6,8,10)
Ques 8

(a) Compare any two Switching techniques. 






1

(b) Which of the following is not a Client Side script: 




1

(i) VB Script (ii) Java Script

(iii) ASP (iv) PHP

(c) If someone has hacked your Website, to whom you lodge the Complain?

1

(d) What do you mean by IP Address? How is it useful in Computer Security?

1

(e) Knowledge Supplement Organisation has set up its new center at Mangalore for its office and web based 
     activities. It has 4 blocks of buildings as shown in the diagram below: 


4


Center to center distances between various blocks

	Black A to Block B
	50 m

	Block B to Block C
	 150 m

	Block C to Block D
	 25 m

	Block A to Block D
	170 m

	Block B to Block D
	 125 m

	Block A to Block C
	 90 m


Number of Computers

	Black A
	 25

	Block B 
	50

	Block C 
	125

	Block D 
	10


e1) Suggest a cable layout of connections between the blocks.

e2) Suggest the most suitable place (i.e. block) to house the server of this organization with a suitable reason.

e3) Suggest the placement of the following devices with justification

(i) Repeater
(ii) Hub/Switch

e4) The organization is planning to link its front office situated in the city in a hilly region where cable connection is not feasible, suggest an economic way to connect it with reasonably high speed?

(f) What do you mean by Spam Mails? How can you protect your mailbox from Spams?

 
1

(g) Mention any two advantages of Open Source Software over Proprietary Software.  


1
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